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Part | . Listening Comprehension
Section A: 10 Statements
Directions: In this section, you will hear 10 statements. Each sentence will be spoken just
once. The sentence you hear will not be written out for you. After you hear each sentence, read the
four choices in your test paper, marked, A, B, C, and D, and decide which one is closest in
meaning to the sentence you heard. Then, on your Answer Sheet, find the number of the question
and fill in the space that corresponds to the letter of answer you have chosen.
1. A. She should have her ears examined.
B. She must listen to her teacher.
C. She didn’t pay attention to her teacher’s opinion.
D. She always does what the teacher tells her.
2. A. The plane left at 12:30 A. M.
B. The plane left at 12:00 noon.
C. The plane left at 11:30 P. M.
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. The plane left at 1:00 P. M.
. Pat went to the party with John.
. John was invited to Pat’s party.
. John would not go to the party.
. Pat did not go to the party.
. The tour was worth the time but not the money.
. The tour was not worth the time or the money.
. The tour was worth both the time and the money.
. The tour was not worth the time
. I wrote you a letter.
. I called you.
. Ilet her call you.
. I went to see you.
. There was plenty of time to get there.
. We needed more time to get there.
. We had to get there in time.
. We had a good time when we got there.
. She failed the test.
. She needed more time to finish the test.
. In spite of her studying she found the test difficult.
. She did well on the test because she studied hard.
. Despite its being rush hour, there was little traffic.

. There was not much traffic because it was rush hour.
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. There was a lot of traffic because it was rush hour.
D. Rush hour is before dark.
9. A. Although she has a scholarship, Ellen cannot attend the University.
B. Ellen cannot get a scholarship until the University accepts her.
C. Ellen attends the University on a scholarship.
D. If Ellen gets a scholarship, she can attend the University.
10. A. We got good seats although we were late.
B. We did not get good seats because we were late.
C. We were too late, but we got good seats.
D. We got good seats because we arrived on time.
Section B: Conversations
Directions: In this section, you will hear 10 short conversations. At the end of each
conversation, a question will be asked about what was said. The conversation and the question
will be spoken only once. After each conversation, there will be a pause. During the pause, you

must read the four choices marked A, B, C, and D, and decide which is the best answer. Then
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mark the corresponding letter on the Answer Sheet with a single line through the center.
11. A. Finish the work.
B. Wait until next morning.
C. Go home.
D. Have a rest there.
12. A. The woman has chosen a color.
B. The woman doesn’t care which color is chosen.
C. The woman is concerned about the color.
D. The woman has chosen a different color.
13. A. At the stationer’s.
B. In the department store.
C. At the bank.
D. In the classroom.
14. A. After the woman.
B. Ahead of the woman.
C. At the same time as the woman.
D. Later than the woman.
15. A. She is easy-going.
B. She is an ill-natured person.
C. She looks mean, but deep down she is kind.
D. She is strict with her students.
16. A. The man himself.
B. The man’s mother.
C. The cleaner.
D. The woman.
17. A. $20.58.
B. $58.00.
C. $78.58.
D. $100.58.
18. A. At the restaurant.
B. At the man’s clothes store.
C. In the cinema.
D. In a supermarket.
19. A. Interviewer and interviewee.
B. Manger and clerk.
C. Shop-girl and consumer.
D. Landlady and tenant.
20. A. One hour.
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B. An hour and a half.
C. Half an hour.
D. Three quarters.
Section C: Spot Dictation

Directions: In this part, you will hear a passage three times. The passage is printed on your
test paper with 10 blanks. Listen carefully and fill in the blanks with the missing words you have
just heard.

More and more people today are realizing the importance of _21 physical exercise.

There are many different forms of exercise to _22 different tastes. For example, those who
enjoy__ 23  sports may take up ball games. If they _24 exercise alone, they can have a run or
take a walk in the morning or in the evening. _25 , people can go swimming in the summer and
go skating in the winter._26 , no matter what their interests are, people can always find one or more
sports that are, people can always find one or more sports that are suitable to them.

However, the _27 of physical exercise must be chosen carefully. More harm than good will
28 if people choose the wrong form of exercise. For the aged, Qigong or Tai ji Boxing will suit
them better than competitive sports. Those who have little spare time may have a regular run in
the morning. Only if the kind of exercise is chosen _29 and performed regularly, will it _30
their health, work and study.

Part II. Reading Comprehension

Directions: There are 4 passages in this part. Each of the first three passages is followed by
some questions or unfinished statements. For each of them there are four choices marked A), B), C)
and D). You should decide on the best choice. Answer the questions on the fourth passage.
Questions 31 to 35 are based on the following passage.

People are making more and more demands on the world’s natural resources. If babies born
in 1991 live for 80 years, the human population of the world may be anything from twice to three
times the present total by 2070. In other words, they will have to share what is left of the earth’s
resources with between 10 and 15 billion other people. But hopefully there will be a significant
decrease in the growth of population. What if this does not happen? The answer is that by the time
before the babies born in 1991 reach the age of 40 they could be sharing resources with as many
as 10 billion other people.

Limiting the pollution of water and the atmosphere, controlling the output of the chemicals
that may be causing global warming the climate change, and eating less meat may go some way to
help, but can anyone seriously imagine that these are going to solve the problems of the “baby
class”of ’ 917

There is no getting away from the fact that people are responsible for the present state of the
world, and only people can solve the problems. The decisions have to be taken by people as
members of national and local governments; as leaders and decision-makers in industry; as

scientists and technologists; as professional engineers and designers; as religious leaders and as



31. Which of the following can be the title for this passage?

individual citizens.

A. Making More Demands on the Natural Resources.
B. Limiting the Pollution of Air and Water.
C. Reducing the World Population.
D. Saving the Babies of "91?
32. What is meant by “the problems of the ‘baby class’ of ’917?
A. A large number of babies will be born after 1991.
B. Babies born in 1991 won’t live a long life.
C. The children of 1991 are not given good education.
D. The world will be over populated in 40 years.
33. This short passage is probably taken from
A. a news report
B. a science fiction
C. an article by a medical worker
D. a government report
34. It is implied in the second paragraph that
A. limiting the pollution is of the great importance
B. not all the people know how to save our planet
C. our planet is becoming warmer because of the pollution
D. we should eat less so that more people can be fed
35. Which of the following is NOT mentioned in the last paragraph as people responsible for
the present state of the world?
A. Officials
B. Industrialists.
C. Businessmen.
D. Scientists.
Questions 36 to 40 are based on the following passage.

Accidents are the major cause of death for all young people under 35. They are the fourth
most frequent cause of death for all age groups in the U. S. —fourth only to heart disease, cancer
and stroke. Each year thousands of Americans lost their lives in accidents, and thousands are
permanently crippled.

By far the most common types of home accidents are falls. Each year over ten thousand
Americans meet death in this way, within the four walls of their home, or in yards around their
house. Nine out of ten of the victims are over 65. But people of all ages experience serious injuries
as a result of home falls. It is impossible to guess how many injuries result from falls, but they
must run into millions.

Falls can be a problem for all ages. In the process of growing up, children or teenagers often
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will fall. Fortunately their bodies are springy, so they may suffer only skinned knees, bumps and
bruises. But in an older person, the same fall may cause a broken arm, leg, and hip or other injury
that requires hospitalization or medical care. As a person grows older, he may not fall any more
often, but the result usually are more serious and may even be fatal.

Preschool children are often killed by falls from open windows and porches. Their normal
curiosity and the urge to climb lead them to dangerous heights. Therefore, it is a parent’s duty to
keep small children away from stairways, open windows and porch railing. Gates, bars, and other
means of protection should be used whenever possible.

Adults fall because they don’t look where they are going. Running or taking two steps at a
time invites falls. In trying to save an extra trip up the stairs by loading his arms with bundles or
boxes that keep him from seeing where he is going, an adult may find it safer to make an extra
trip.

36. The most common type of home accidents is

A. choking

B. falling

C. drowning

D. burning
37. In this passage the author states that

A. seat belts save lives

B. most accidents are avoidable

C. heart disease is the greatest killer of Americans

D. the death rate from work-related injuries is increasing
38. Most victims of falls are at least 65 years of age because

A. old people fall more often than younger people

B. bones become stiff and brittle with age

C. elderly people take unnecessary risks

D. old people don’t look where they are going as a result of poor eyesight
39. Adults are injured in falls as a result of

A. boldness (5 H0)

B. dizziness (ZHZ%)

C. carelessness

D. weakness
40. From the page we may conclude that

A. as a cause of death in America, accidents rank first

B. the risk of accidents increases with a person’s age

C. the head is injured more than any other part of the body

D. most people do not realize how serious falls can be

Questions 41 to 45 are based on the following passage.
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Each year millions of people suffer from the effect of alcohol and drug abuse, getting into
illness, crime and death.

In the United States alone, 10 to 12 million men and women and their loved ones and
families suffer from alcohol. Additional millions abuse alcohol at great cost in health and in lost
productivity.

In Canada, it is said, “Alcohol increases business—for hospitals, ambulance drivers, doctors,
and nurses.”

Alcohol abuse and dangerous drugs have swept through Europe. Soviet culture, too, is
paying enormous social and economic costs.

Developing nations are bothered by drup problems—both ancient and modern. In this part of
the world hundreds of millions request doctor to ease their miseries and problems in life.

These methods of coping are unhealthy solutions! It is time we understood why and found
the way out of today’s greatest social problem surrounding this supposedly advanced 20 century.

41. This passage is primarily about

A. the worldwide drug and alcohol abuse
B. the greatest social problem in Europe
C. the methods of coping with alcohol abuse
D. the enormous cost in health and in lost productivity
42. How many people in the United States have suffered form alcohol abuse?
A. About 5%~6% of the whole population.
B. About one fourth of the population.
C. 10 to 12 million people and their families.
D. Hundreds of millions.
43. Which of the following Statements is NOT true?
A. Alcohol and drug abuse is becoming a burning question.
B. The author suggests that the public cope with alcohol and drug abuse.
C. The alcohol abuse has damaged health.
D. Addicting agents come into being to treat the addicts.
44. The author strongly implies that the public should
A. reveal the relationship of heavy drinking and illness
B. help drug users to ease their miseries
C. take measures to improve alcohol business
D. seek for proper solutions to drug problems in time
45. According to the author, the drug abuse problem in Soviet Union
A. is costing more money than in Europe
B. cannot be solved because it cost too much money
C. becomes a threat to society

D. is also severe
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Questions 46 to 50 are based on the following passage. Complete each of the sentences with less
than 10 words.

I have been studying optimists ((KM 3 X3 ) and pessimists CGIEM T2 L35 ) for the past 25
years. The defining characteristic of pessimists is that they tend to believe bad events will last a
long time, will undermine everything they do, and are their own fault. The optimists, who are
confronted with the same hard knocks of this world, think about misfortune in the opposite way.
They tend to believe defeat is just a temporary setback, that its causes are confined to this case.
The optimists believe defeat is not fault; circumstances, bad luck, or other people brought it about.
Such people are not bothered by defeat. Confronted by a bad situation, they perceive it as a
challenge and try harder.

These two habits about thinking about causes have consequences. Literally hundreds of
studies show that pessimists give up more easily and get depressed more often. These experiments
also show that optimists do much better in school and at work. They regularly exceed the
predictions of aptitude tests. When optimists run for office, they are more apt to be elected than
pessimists are. Their health is unusually good. Evidence suggests they may even live longer.

Twenty-five years of study has convinced me that if we habitually believe, as does the
pessimist, that misfortune is our fault, is enduring, and will undermine everything we do, more of
it will happen to us if we believe otherwise. | am also convinced that if we are in the grip of this
view, we will even get physically sick more often. Pessimistic prophecies (Tl & Dare self-fulfilling.

Questions:

46. What has the author been doing in the past 25 years?

47. What is the striking characteristic of the pessimist?

48. What is typical of the optimist?

49. The consequence of the pessimist doing is that

50. So, we can come to the conclusion that
PartlIl Vocabulary and Structure
Directions: There are 30 incomplete sentences in this part. For each sentence there are four

choices marked A), B), C), and D). Choose the one that best completes the sentence. Then mark

the corresponding letter on the Answer Sheet with a single line through the center.

51. It won’t be long we know each other well.
A) after B) until
C) when D) before
52. The shy girl felt and uncomfortable when she could not answer her teacher’s

questions.



A) awkward B) amazed
C) curious D) amused
53. No sooner had he sat down to lunch there was a knock at the door.
A) when B) that
C)as D) than
54. She is studying medical science now, but she a lawyer.
A) would be B) used to be
C) formerly were D) had been
55. the whole, it was a successful evening.
A) On B) At
C) From D) In
56. The computer of this kind is handling with all kinds of information.
A) capable to B) able to
C) capable of D) able of
57. Please sit down and make yourself
A) in the room B) at home
C) fine D) easy
58. I’d just as soon rudely to her.

A) that you won’t speak B) you not speak

C) you didn’t speak D) your not speaking
59. He didn’t thank me for the present. That is annoyed me.
A) which B) how it
C) what it D) what
60. The climate in the mountain area has seriously his health. That is, the climate
in the mountain area has a serious upon his health.
A) effected, affect B) affected, effect
C) affected, affect D) affected, effect
61. This brand of products is to that in quality.
A) senior B) junior
C) superior D) better
62. One must try his best to to the new environment.
A) adapt B) apt
C) adopt D) adept
63. , he is not capable of teaching.
A) Ateacherasheis  B) As a teacher he is
C) As a teacher D) Teacher as he is
64. 1f it tomorrow, we won’t go for a picnic.

A) will rain B) should rain



C) rains D) rained
65. We knew she wasn’t English she began to speak.
A) once B) until
C) the moment D) as
66. We were struck by the extent which teachers’ decisions served the interest of

the school rather than those of the students.
A) to B) for C)in D) with
67. It is desirable that he.

A) gives up trying B) give up trying
C) would give up D) is going to give up trying
68. It was he had made such great contributions to the world peace that he won

the Nobel Prize for Peace.
A) that B) because C) since D) for
69. The mere fact most people believe nuclear war would be madness does not

mean that it will not occur.

A) what B) which C) that D) why
70. from space, our earth, with water covering 70% of its surface, appears as a
“blue planet”.
A) Seeing B) To be seen C) Seen D) Having seen
71. Mr. Johnson preferred heavier work to do.
A) to be given B) to be giving
C) to have given D) having given
72. This year’s total output value of industry and agriculture will increase 5

percent over last year.

A) to B) of C) with D) by
73. The government has got a deficit (F5F) of 20 billion dollars.
A) economical B) economic
C) monetary D) financial
74.1 very successful in my work so far.
A) haven’t been B) hadn’t been
C) wasn’t D) am not
75.1°d like to a special seat for the concert of May 3.
A) deserve B) reserve
C) preserve D) conserve
76. We must that our customs and habits are different from theirs.

A) take into account B) bring forward
C) keep in mind D) come true

77. She be Canadian because she’s got a British passport.



A) mustn’t B) has not to
C) can’t D) needn’t
78. 1 was able at last to my friend to take my advice.
A) persist B) persuade
C) dissuade D) convince
79. A man of words and not of deeds is a garden full of weeds.
A) as B) with C)to D) like
80. George doesn’t trust anyone. He won’t lend you any money you promise in

writing to pay him back.
A) unless B) in case C) aslongas D) until
Part IV. cloze

Directions: There are 20 blanks in the following passage. For each blank there are four
choices marked A, B, C and D. You should choose the one that best fits into the passage.

Smoking, which may be a pleasure for some people, is a serious source of discomfort for
their fellows.

_ 81 medical authorities express their _82 about the effect of smoking _83 the health not
only _84 those who smoke but also of those who do not. In fact, _85 who must unintentionally

( JC B M) breathe the air polluted by tobacco smoke may _ 86 more than the smokers
themselves. As you are _87 , a large number of our students have _88 in an effortto _89 the
university to ban (2% 1) smoking in the classrooms. I believe they are completely right _90
their aim. _91 , I would hope that it is _92 to achieve this by _93 the smokers to use good
judgment and show concern _94 others rather than by regulation.

Smoking is _95 by laws in theaters and in halls used for _96 films as well as in
laboratories where there _97  be a fire hazard (fE[%;) . Elsewhere, it is up to your good sense. I
am _98 asking you to maintain _99 in the auditoriums(fL % ), classrooms and seminar rooms.
This will prove that you have the non-smokers’ health and well being _ 100 , which is very

important to a large number of our students.

81. A. Still B. More C. But D. Further
82. A. concern B. doubt C. interest D. pleasure
83.A. on B.in C. with D. to
84.A.to B. about C. with D. of

85. A. non-smokers B. smokers C. people D. students
86. A. endure B. suffer C. suffer from D. tolerate
87. A. realize B. awake C. aware D. informed
88. A. linked B. connected C. associated D. joined
89. A. make B. persuade C. cause D. tell
90.A. to B. of C.in D. for

91. A. But then B. However C. Further D. Moreover
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92. A. likely B. probable C. capable D. possible

93. A. pleading B. begging C. insisting D. calling on
94. A. with B. for C.to D.in

95. A. prohibited B. stopped C. pressed D. prevented
96. A. playing B. demonstrating C. showing D. exhibiting
97. A. will B. should C. may D. must

98. A. reluctantly B. therefore C. finally D. so

99. A. “No Smoking” B. “Non Smoking” C. “Not Smoke” D. Non smoke
100. A. by heart B. from your heart C. in mind D. on your mind

Part V. Writing

Directions: For this part, you are allowed thirty minutes to write a composition on the topic
“Hobbies”. You must base your composition on the following instructions ( given in English).

1. Hobbies are activities in which one participates strictly for amusement.

2. Some people collect things as a hobby.

3. My hobby is

Part 1 Listening Comprehension Script:
Key to Section A (Statements)
(C) 1. She should have listened to her teacher’s advice.
(A) 2. Their flight was scheduled to depart at noon, but the plane was delayed for half an
hour.
(D) 3. Pat refused to accept John’s invitation to the party.
(B) 4. The tour was worth neither the time nor the money.
(B) 5. 1 was going to write you a letter, but I decide to call you instead.
(A) 6. We had more than enough time to get there.
(C) 7. Although Mary studied hard for the test, there were a lot of questions she couldn’t
answer.
(A) 8. The traffic was very light even though it was rush hour.
(D) 9. Ellen can’t go to the University unless she gets a scholarship.
(B)10. If we had arrived on time, we would have gotten good seats.
(A)11. M: I’'m so tired I think I’'1l go home now.
W: I have to stay up until I finish the work.
Q: What will the woman do?
(B)12. M: Which color would you choose?
W: It makes no difference to me.
Q: What do we learn from this talk?
(C)13. M: Id like to cash a check. May I borrow your pen?
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W: Sure. Don’t you have an account here?
Q: Where does the conversation take place?
(B)14. M: Hi! I hope I haven’t kept you waiting long.
W: Listen, I just got here myself.
Q: When did the man arrive?
(D)15. M: I’'m always nervous when I’m around the teacher.
W: Me, too. I believe she is too hard on us.
Q: How do the students think of their teacher?
(B)16. W: Do you do your own laundry?
M: No, my mother does my shirts; and I take my suits to the cleaner’s.
Q: who washes the man’s shirts?
(C)17. M: How much did the trousers you’re wearing cost?
W: Well, the material cost me $58.00 and the tailor charged me with $20.58.
Q: How much is all together?
(A)18. M: This menu is huge. I’'m starving. What looks good to you?
W: Don’t bother. Everything sounds good to me.
Q: Where does the conversation take place?
(D)19. M: Yes? Can I help you?
W: Yes. Do you still have that apartment for rent?
Q: What’s the probable relationship between the two?
(©)20. M: If we hurry we can take the subway and save am hour, can’t we?
W: Yes, the subway takes only half an hour to get there.
Q: How long does it take to get there by the subway?
Section C (Spot Dictation)
21. regular 22. suit 23. competitive 24. prefer to 25. Besides
26. In short 27. form 28. result 29. properly 30. benefit
Part II. Reading Comprehension
31.C 32.D 33.A 34.B 35.C 36.B 37.C 38.B 39.C
40.D 41.A 42.C 43D 44.D 45D
46. Studying the optimists and the pessimists.
47. Misfortunes are their own fault and will last long.
48. Defeat is a temporary setback, which they’ll challenge.
49. they give up more easily and get depressed more often.
50. trying to be optimistic is good to our study, work and health
Part III. Vocabulary and structure
51.D 52.A 53.D 54.B 55.A 56.C 57.B 58.C 59.D
60.B  61.C 62.A 63.D 64.C 65.C 66.A  67.B 68.B
69.C 70.C 71.A  72.D 73.D 74.A 75.B 76.C 77.C
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78.B 79.D 80.A

Part IV: Close

81.D 82.A 83. A 84.D 85.A 86.B 87.C 88.D 89.B

90.C 91.B 92.D 93.D 94.B 95.A  96.C 97.C 98.B

99. A 100.C

PartV : Writing

Hobbies

Hobbies are activities in which one participates strictly for amusement. A hobby can be
almost anything. Music is most popular. Many people play musical instruments. They play simply
for fun in their free hours. Sports provide other favorite hobbies. Bicycling, skating, tennis and
countless other sports are enjoyed by millions of people.

Some people collect things as a hobby. Stamps, coins, and paintings are all popular
collections, and valuable, too. There are still hundreds of others, not necessarily valuable but still
interesting, such as seashell collections, bottle collections, and so on. Gardening and cooking are
two examples of common activities that become hobbies for many people. They devote a great
deal of their spare time to them.

My hobby is playing guitar. I have been playing it since my first year in collage. I like to sing
along when I play, too. My friends tell me that I am very good at it, but I don’t know whether it is

true. To me it is just an enjoyable hobby.

BEA LI ARG —HEHE R
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Part | . Listening Comprehension
Section A: 10 Statements
Directions: In this section, you will hear 10 statements. Each sentence will be spoken just
once. The sentence you hear will not be written out for you. After you hear each sentence, read the
four choices in your test paper, marked, A, B, C, and D, and decide which one is closest in
meaning to the sentence you heard. Then, on your Answer Sheet, find the number of the question
and fill in the space that corresponds to the letter of the answer you have chosen.
1. A. Channel Three Carries CBS news.
B. Channel Six carries CBS news.
C. Channel Thirteen carries CBS news.
D. Channel Thirty carries CBS news.
2. A. A used book is $6 cheaper than a new book.
B. A used book costs $2.50.
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C. Mary saved $3.50.

D. A new book costs $8.50.

3. Bill’s sister graduated.
B.Whne Bill graduated, his sister was proud of him.
C. Bill was very proud of his sister.
. Bill was very proud when he graduated.
. It is very dangerous to practice driving at the shopping center.
. Some places are better to practice driving than the shopping center
. It is better mot to practice driving at the shopping center.
. The shopping center is the best place to practice driving.
. Both of my children came.
Only my son came.
. Only my daughter came.
. Neither of my children came.
. The new students are not homesick.
. The new students used to be homesick, but they are mot homesick now.
. The new students have not been very long.
. since I have here longer than the new students, I am mot homesick.
. Mrs. Smith has traveled less than her husband has.
. Mrs. Smith always travels with her husband.
. Mrs. Smith husband does not travel very far.
. Neithe Mrs. Smith nor her husband travel very much any more.
. You should go to Florida again this year.

o
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. Although you usually go to Florida, this year you should go to California instead.
C. This year you should go to Florida instead of to California.
D.You should return to California this year.
9. A. John always tells secrets.
B. John never tells secrets.
C. John is meant to tell secrets.
D. John keeps secrets.
10. A. Mr. Smith stopped drinking when his doctor told him that he had to.
B. Mr. Smith’s doctor did not stop drinking.
C. Mr. Smith drinks in spite of his doctor’s advice.
Section B: Conversations
Directions: In this section, you will hear 10 short conversations. At the end of each
conversation, a question will be asked about what was said. The comversation and the question
will be spoken only once. After each conversation, there will be a pause. During the pause, you
must read the four choices marked A, B, C, and D, and deside which is the best answer. Then mark
the corresponding letter on the Answer Sheet with a sing line through the center.
11. A. To the hospital
B. To the beach.
C. To the a department store.
D. To a parking area.
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12. A. Registration.
B. When the line breaks.
C. People who don’t wait their turn.
D. How long the line is.
13. A. Because he wanted to meet the woman’s parents.
B. Because he didn’t know the woman’s plans.
C. Because he goes to a country house each August.
D. Because he won’t be able to take a holiday.
15. A. Friends.
B. Late for the meeting.
C. Hurry to the meeting.
D. Take a bus.
16. A. Friends.
B. Doctor and patient.
C. Solesman and consumer.
D. Teacher and student.
17. A. He can’t read the clock.
B. He can’t write.
C. He can’t speak.
D. He can’t read books.

18. A. 5:10 B. 5:00
C. 10:05 D. 9:55
19. A. In a bakery. B. In a restaurant.
C. On a farm. D, Ina hotel.
20. A.$5. B. $4.5.
C.$2.5. D.$9.
Section C:

Directions: In this section, you will hear one short passage. At the end of the passage, you
will hear five questions, both the passage and the questions will be spoken twice. After you hear
the question, you must choos the best answer from the four choices marked A, B, C, and D. then
mark the corresponding letter on the Answer Sheet with a single line through the center.

1. Who is the speaker?

A. The head of the student organization.
B. The dean of students.
C. The director of Butler Hall.
D. A college professor.
2. Which group of students is the speaker addressing?
A. Those who will be on campus during a vacation.
B. Those who work part-time in the administration of —fices.
C. Those who normally live Butler Hall.
D. Those who will be moving on campus in a few months.
3. Which season of the year is it?
A. Spring. B. Summer.
C. Fall. D. winter.
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4. For how long will the dormitories remain closed?
A. For weekend. B. For five days.
C. for ten days. D. For two weeks.
5. Which statement is TRUE about college facilities during the vacation period?
A. Only a few facilities will be closed.
B. Most facilities will be closed.

C. Most facilities will operate on a reduced schedule.
D. All facilities will be open.

PartIl. Reading comprehension

Directions: There are 4passages in this part. Each of the first three passages is followed by
some questions or unfinished statements. For each of them there are four choices marked A), B), C)
and D). you should decide on the best choice. Answer the questions on the four passages.

Questions 26 to 30 are based on the following passage.

When we meet another person for the first time, we are actually flooded with new information.
Almost at once, we notice his appearance, style of dress, and monner of speech. Furthermore, as
we listen to what he has to say and observe the things he does, we begin to form some ideas of
what kind of person hisand what he intends to do. As you know from your own experience, though,
we do not only gather these separate pieces of information. Instead, we go further and combine
them into a unified picture. In short, we form an overall im pression of each person we meet-an
impression that can be favorable or unfavorable. But how precisely do we perform this task? How
do we combine so much different information into a clear first impression with such quick speed?
A great deal of research has been performed on this question, and resulits point to the following

answer: We perform this task through a special type of averaging.

Expressed very simply our impressions of others seem to represent a weighted average of all
information that can be gathered about them. That is, they reflect a process in which all
information we have about others is averaged to gether—but with some facts, or input receiving
greater sense. For example, in forming an impression of a new boss you would probably be
influedced to a much greater degree by how this person gives you orders ( whether respectfully or
not ) than by the color of his or her eyes. The fact that not all information about other persons
affects our impressions of them to the same degree, raises an important question: Just what kinds
of input receive the greatest weight? Again research provides some revealing(&% A\ i ) an-swers.
26. This passage is mainly about .

A. how our first impressions are expressed.
B. how our first impressions are formed.
C. how we can favorably impress others.
D. how first impression affect our lives.
27. According to the passage, the first impression is
A. the result of quick look.
B. not based on enough information.
C. a combination of pieces of information.
D. the observation of what a person does.
28. Research has shown that first impressions are generally more influenced by

A. the way others spesk.



(’ EIEEHM
www.51zsb.org
B. appearance and styule of dress.
C. all information we have.
D. certain types of information at hand.
29. The word “weight”in the last paragraph is closest in meaning to
A. amount B. research
C. importance D. burden
30. The following paragraph will most probably siscuss .
A. wrong first impression of other people.
B. selected information for forming first impression.
C. the importance of first impression in job situation.
D. ways of making good first impression.

Questions 31 to 35 are based on the follwing passage.

It is plain that in the year 2020 everyone will have at his elbow several times more
mechanical energy than he has to-day.

There will be advances in biological knowledge as far-reaching as those that have been made
in physics.

We are only beginning to learn that we can control ourbiological environment as well as our
physical world population: by Malthus in about 1800’by Cripples in about 1900. it was and the
second time by using the new fertilizers. In the year 2020, starvation will be headed off by the
control of the dis-eases and the herdity( i 1% ) of plants and animals —by shaping our own
biological environment.

Now I come back to the haunting theme of automation. The most common species in the
factory today is the man who works or minds a simple in the factory today is the man who works
or minds a simple machine—the operator. By the year 2020, the repedtitive tasks of industry will
be taken over by the machines, as the heavy tasks were over long ago; and the mental tedium( = )
will go the way of physi cal exhaustion. Thoday we still distinguish, even among repetitive jobs,
between the skilled and the unskilled; but in the year 2020 all repetition will be unskilled. We
simply waste our time if we oppose this change; it is as inevitable as the year 2020 itself.

31. The article was written to

A. warn us of the impending( B[l /& 4) starvation

B. present facts about life in the near future

C. oppose biological advances

D. warn of the evil side of automation
32. Advances in biological knowledge

A. kept pace with advances in physics

B. responsible for the invention of new machines

C. surpassed those in physics

D. lagged behind those in physics
33. According to the passage, starvation

A. can be predicted B. is unavoidable

C. can be prevented D. is mainly caused by poor agriculture
34. Repetitive tasks in industry lead to

A. physical exhaustion B. mental stimulation
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C. mental exhaustion D. extinction

35. If the predictions of the writer are realized, the demand for the unskilled workers in 21st

century will be
A. very high B. very low
C. the same as today D. constantly rising

Questions 36 to 40 are based on the following passge.

Psychologists now believe that noise has a considerable effect on people’s attitudes and
behavior. Experiments have proved that in noisy situations (even temporary ones ), people behave
more irritably and less cooperatively; in more permanent noisy situations, many people cannot
work hard, and they suffer from severe anxiety as well as other psychologecal problems. However
psychologists distinguish between “sound” and “noise” . “Sound” is measured physically in
decibels. “Noise” cannot be measured in the same way because it refers to the psychological effect
of sound and its level of “intensity”’depends on the situation. Thus, for passengers at an airport
who expect to hear airplanes taking off and landing, there may be a lot of sound, but not much
noise (that is, they are not botered by the noise). By contrast, if you are at a concert and two
people behind you are whispering you feel they are talking noisily even if there is not much sound.
You notice the noise because it affects you psychologically. Both sound and noise can have
negative effects, but what is most important is if the person has control over the sound. People
walking down the street with earphones listening to music that they ecjoy, are receiving a lot of
decibels of sound, but they are probably happy hearing sounds that they control. On the other hand,
people in the street without earphones must tolerate a lot of noise which they have no control over.
It is noise pollution that we need to control in order to help people live more happily.

36. According to the passage people

A. can not work better in a noisy situation

B. will suffer from complete deafness because of noise pollution

C. can be psychologically affected by working in very noisy factories

D. may cooperate well in a noisy surrounding
37. “Sound”, as defined by the psychologist,

A. can be measured in the same way that “noise” in measured

B. may be extremely harmful to health

C. is not at all different from “noise”

D. can be measured by machines
38. Peple waiting at an airport .

A. enjoy hearing airplanes taking off and landing

B. are usually not troubled by the noise

C. can easily tell sound from noise

D. are often physically affected by the noise
39. People enjoy listenting to music

A. though they are receiving a lot of decibels of sound in fact

B. because it does not have any negative effect

C. because they do not have to tolerate the noise around them

D. even though it is sometimes unpleasant hearing strange sounds
40. We can conclude from the passage that we need to control noise pollution if

A. we want to stay both psychologically and physically healthy
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B. we don’t want to be physically dent(H!|55)

C. we want to cooperate well

D. we don’t want to be anxious
Questions 41 to 45 are based on the following passage. Complete each of the sentences with
less than 10 words.

It seems to me that many British newspapers aren’t really newspaper at all. They contain
news. It is true, but much of this news only appears in print because it is guaranteed to shock,
surprise appears in print because it is guaranteed to shock, surprise or cause a chuckle(%% 75 %€).

What should we expect to find in a real newspaper? Interesting political articles? Accurate
report of what has been happening in distant corners of the world ?  Full coverage of great
sporting event? In depth interviews with leading personalities? It is a sad fact that in Britain the
real newspapers, the ones that reort the facts, sell in thousands, while the popular papers that set
out to shock or amuse have a circulation of several million. One inescapable( A~ 1 ik 4 )
conclusion is that the vast majority of British readers do not really want a proper newspaper at all.
They just want a few pages of entertainment.

I buy the same newspaper every day. In this paper, political matters, both British and foreign,
are covered in full. The editorial column may support government policy on one issue and oppose
it on another. There is a full page of book reviews and quoted daily. So are the exchange rates of
the world’s major currencies. The sports correspondents are among the best in the country, while
the standard of the readers’ letters in absolutely first class.

If an intelligent person were to find a copy of this paper 50 years from now. he or she would
still find it entertaining, interesting and instructive.

So my favorite newspaper is obviously very different from those popular papers that have a
circulation of several million. But that does not mean that it is “better” or that they are “worse”.
Weare not comparing like with dislike. A publisher printing a newspaper with a circulation of
several million is running a highly successful commercial operation. The people who buy this
product are obviously satisfied customers and in a free society everybody should have the right to
buy whatever kind of newspaper he pleases.

41. What kind of news can be found most in the newspaper with a circulation of several millions?
42. What does the author conclude about the British readers?

43. What is the attiude of the author toward the popular papers?

44. What kind of newspaper does the author always buy?

45. What’s the best title for the passage?

Part III. Vocabulary and Structure

Directions: There are 30 incomplete sentences in this part. For each sentence there are four
choices marked A), B), C), and D). Choose the One that best completes the sentence. Then mark
the corresponding letter on the Answer Sheet with a single line through the center.

46. The child was learning to walk again gradually.
A) broken B) harmed
C) injured D) enable

47. 1t is high time you what a bad impression your impatrience makes on people.
A) realized B) realize

C) will realize D) should realize



48. The car was repaired but not quite to my

A) joy B) pleasure
C) attraction D) satisfaction
49. He promised me that the messagea at once.
A) could be sent B) would be sent
C) must be sent D) be sent
50. All things , the planned trip will have to be called off.
A) be considered B) considered
C) considering D) having considered

51. I’m going to the hairdresser’s to
A) have cut my hair B) cut my hair

C) have my hair cut D) cut me my hair
52. He hurried to the station himself two bours early for the train.
A) to find B) only to find
C) finding D)to have found
53. They seem to have no interest in .
A) mutual B) only to find
C) common D) usual
54. You are late for the meeting. on time next time.
A) Do be B) To be surely
C) Must be D) Make sure
55. One day 1 a newspaper article about the retirement of an English professor at a

nearby state college.

A) came across B) came about

C) came after D) came at
56. After seeing the film, .

A) the book was read by him

B) the book made him want to read it

C) he wanted to read the book

D) the reading of the book interested him

57. 1 was startled when the waiter brought me the for I hadn’t thought chicken was so
dear.

A) massage B) menu

C) note D) paper
58. Now, the factory produces all the factories in this city did in 1949

A) ten times much chemicals

B) as ten times much chemical

C) much chemicals as ten times as
D) ten times as much chemicals as

59. The boy was by car and taken to hospital.
A) run off B) run out
C)run over D) run through

60. The factory is said in a fire two years ago

A) to have been destroyed



61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

B) to be destroyed
C) to destroy
D) to have destoyed
Mother’s only objection our going out was that it was too late
A) for B) to
C) against D) with
There were only a number of students in the playground.
A) few B) little
C) scarce D)small
We can assign the work to is reliable.
A) whose B) whom
C) whoever D) whomever
His explanation is not at all clear. I find it
A) essential B) confusing
C) awful D) puzzled
The popularity of such schools is growing steadily the hight tuition fees.
A) in spite of B) although
C) instead of D) even if
Not until 1868 made the capital of the state of Georgia.
A) Atlante was B) was Atlanta
C) when Atlants was D) when was Atlanta
Hand in your papers when you the test.
A) are finishing B) will finish
C) will have finished D) have finished
They are nice boys and I’m sure you’ll get on them very well.
A) with B) by
C) toward D) beside
We live in the country than in the city.
A) predfer to B) had better
C) would rather D) likes better to
We have not fixed the date we shall start our holidays.
A) and B) that
C) when D) which
There is no doubt he will succeed in his business.
A) that B) whether
C) what D) if
The Department of State in the U.S. handles international
A) business B) matters
C) things D) affairs
The size of the audience, we had expected, was well over one thousand.
A) whom B) as
C) who D) that
Prices for bikes can run $250.

A) as high as B) so high to



C) too high to D) so high as
75. The money would be in the afternoon

A) possible B) convenient

C) available D) satisfactory
Part [V. Translation

Directions:

The following 5 questions are taken from the passage in part II . Translation them into
Chinese and write your answers on the Answer Sheet.
76. A great deal of research has been performed on this question, and results points to the
following answer: we perform this task through a special type of averaging.
77. There will be advances in biological knowledge as far-reaching as those that have been made
in physics.
78. Today we still distinguish, even among repetitive jobs, between the skilled and the unsailled;
but in the year2020 all repetition will be unskilled.
79. Psychologists now believe that noise has a considerable effect on people’s attitudes and
behavior.
80. Both sound and noise can have negative effects, but what is most important is if the person has

control over the sound.

Part V. Writing

Directions: For this part, you are to write a composition of no less than 100 words on “.
Health and Sports”. Please write it on the ANSWER SHEET. The following are the key words for
reference:

Health, important, healthy, enjoy, sports, exercise, increase, appetite, mind, sound, relaxed,
and indulge.

W

S5 %
Part | Listening Comprehension Script:
Key to Section A (Statements)
(C)1. CBS news is on Channel Thirteen at six o’clock,
CBS (Columbia Broadcasting System).
(D)2. Mary bought a used book for $ 6, saving about $2.50.
(B)3. Bill’s sister was very proud when he graduated.
(D)4. There is no better place to practice driving than the shopping center.
(A)S. I had just expected my daughter to come, but my son showed up too.
(C)6. When the new students have been here a little longer, ’'m sure that they will feel less
homesick.
(A)7. Mrs. Smith hasn’t traveled nearly as much hedr husband has.
(B)8. Instead of going back to Florida, you ought to go to California this year.
(A)9. Although John never means to tell, he just can’t keep a secret.
(D)10. Mr.Smith would not stop drinking even though the doctor told him that he must.
(B)11. M: Make sure you bring a bathing suit.
W: And you bring the towels and a picnic lunch.
Q: Where are they going?
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(C)12. M: Registration always takes so long.
W: What bothers me is all the people who cut in line.
Q: What bothers the woman?
(B)13. M: I wish you had told me your holiday plans sooner.
W: I’'m sorry, I thought you know I go to my parents’ country house each August.
Q: Why is the man upset?
(D)14. M: If you are in a hurry you can take the subway.
If you want to look round, take a bus.
W: Actually I don’t have to be at the meeting before noon.
Q: What will the woman probably do?
(C)15. M: Would you like to try on that coat, Madam?
W: Thank you. But I’ll look further. I don’t like that color.
Q: What’s the proper relationship between the two?
(B)16. M: It is raining now. What shall we do then?
W: It doesn’t matter. Let’s go into the bar.
Q: Why do they go into the bar?
(A)17. M: Tony is six years old. He can read and write very well, but he can’t tell the time.
W: It’s really hard for a child. Any way, he will be able to do it some day.
Q: What is the trouble with Tony?
(B)18. M: Did the flight for New York leave 10 minutes ago?
W: Yes, it is ten past five now.
Q: When did the plane leave?
(B)19. M: The special for today is baked chicken and lettuce.
W: No, thank you, Just bring me a cup of coffee, please.
Q: Where does this conversation most probably take place?
(A)20. M: How much are these jackets?
W: Five dollars each and nine dollars for two.
Q: How much does one jacket cost?
Question 21 to 25 are based on the following passage.

Thank you for coming to this meeting for students who will be remaining on campus During
the 10—day winter break. As the dean of students, it is my responsibility to explain The vacation
arrangements and to have you fill out forms giving the dates you will be on campus. To reduce
heating cost, Butler Hall will be the only dormitory open, all the other dorms will close at 5 P.m.
on Friday, Feb. 7th, and will not reopen until 6 p. m. on Feb. 16th. Once we have your completed
forms, we will assign you a room in Butler Hall.

Please move all the belongings you will need to your temporary accommodation by the 7th,
as it will not be possible to reopen the other dorms during these 10 days, once they have been
closed. Most college facilities will be closed during the vacation. These facilities include the
gymnasium, the college store and the dining halls. The library and computer center will be open,
theough on a reduced schedule. Only the post office and the college administration offices will
maintain their regular hours. Since I imagine most of you are staying here to finish up academic
projects of one sort or another, let me wish you luck with your work. If you have any special
problems, please do not hesitate to contact me at the dean’s office.

Key:1.B 2.A 3.D 4.C 5.B



Part II. Reading Comprehension

26.B 27.C 28.D 29.C 30.B 31.B
32.D 33.C 34.C 35.B 36.C 37.D
38.B 39.A 40. A

41. Shocking, surprising and amusing news.
42. They just need entertainment in news.
43. Let it be.

44. newspaper full of facts.

45. My opinion on the newspaper

Part III. Vocabulary and Structure

46.C 47. A 48.D 49.D 50.B 51.C
52.B 53.C 54.A 55.A 56.C 57.B
58.D 59.C 60. A 61.B 62.D 63.C
64.B 65. A 66. B 67.D 68. A 69.C
70.C 71. A 72.D 73.B 74. A 75.C

Part IV. Translation
76. A great deal of research has been performed on this question, and results points to the
following answer: we perforn this task throngh a special type of averaging.
HIER — ] e R I KR B IT, A R AR s XA — B BATR M — PR 7 2
W5 AR S — BN
77. There will be advances in bioloical knowledge as farreaching as those that have been made in
physics.
AV RR KR A BB 2 R JE— R EA ) 2 IS
78. Today we still distinguish, even among repetitive jobs, between the skilled and the unskilled;
but in the year 2020 all repetition will be unskilled.
L RIATE AL G LR TAR PR E 3G BOR TAAAESEOR TR, HR22] 1 2020 4,
P R A TAR R R AR SORTE TAFE T
79. Psychologists now believe that noise has a considerable effect on people’s attitudes and
behavior.
AL o BRL 27 SR AT PR 7 M 5 5 N AT 285 B RIAT 9 A 24 K B2 I
80. Both sound and noise can have negative effects, but what is most important is if the person has

control over the sound.
RS EEA, HREREERE NSRS .

Part V. Writing
Sample Composition
Health and Sports

Good health is very important to everyone. A healthy person can always be energetic and
enjoy life what ever things may be. With poor health, a person can not achieve much success even
though he is well educated.

Sports help everyone to keep healthy. Physical exercises can not only increase the circulation
of the blood but also appetite and digestion. Sports can also make our minds sound. While playing
we take our minds off work and study. As a result, our minds are relaxed.
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Since sports can bring good health, we should indulge in sports for a while every day no

matter how busy we are.

BREERREFZ—HEH K
(RZEX) FRARH

—. BRI EE AR

“CREFAE” IRV EAEE AN, RTA “HRRN” MUEm 28 BRI, H
L2 SRS AT F AR D S B A A AR . B R N L

1 IEF AR B0 GRS WSO E i seE ) e IO FE S F1R

20 SCHRFIAR: FRZOCE SCRSCITE K ARSOAR 73 28 B R BB A URHE . AU
SCARENI

3¢ AERAERENIR: F A% SR R SO 5 1 7 A BIARAE S B AR i

4y BRI BRSO EER A (HEE. B8, FEEEGmRD. B8
N SRR IH SIS, ZRIER AR F SRR, NRRE &R SCHIA RBK
BEAT AT IR IR

5. FRIB: FH—R 800 FAAMNEL, ABRIHE, HRFHRERSL.

T 28 OB TR S S AL R

(=) PRICBEBE M I SR B A% L A

1. EEIFANECHEES (BGOSR A, VI SCRI UL X SARRE, 10 R
O AR, R R R A ARG, DR D, BRI AR R

2. SR R B SRS S ZARRNF L, UGS SCHIRTET, IS 77
2, WRCC NIRRT SRS T, R SCIE SIS SCRE BEY RAESE
PG ITE, BOR AR R URSCA R BUE AT AR 47

3. BAC RSO SR B T R RIS R A1), % A SR IR AR F 45 HA
T ;

4, PHCFFERE ST e R T, W b, EeRh B HEEG. FIk. &OE.
RS AR B, B, &, RIES, JRRE R RIAER .

(=) 28 MR SRR L

1. (FEF « F#AEF CHED)

(1) FRFFEAS A O R BT B 185 3 7 S

(2) PIEASCOUE 5 W3 IR U8 (T UE YV BV IE R A

(3) DHTASCHTRERERE H 0 “Fa T 2R “UrZIa R 7. “BEREHE” SROEM & 3.

2. CHORSE BB

(1) FRARA S =ANBAIE S I B NG R

(2) b “HR7 2R FTaAE R R E B E TSR R C R

(3) FRFFAS ORI AN HOIEAR 45 G R UE AT A

3. (A SR

(1) BB SCE “fi4k, SEEHF” Bute K.



(’ BIEEHM
www.51zsb.org
(2) e BREOR O R 73 AR FH ) “ 4R e 37 A “Ha B S0 R s
(3) FRFFASCEIE PR, (HZS R R0 H NI SR AR A
4. (&)
(D) A ST IR AL, BRARA SR — 18 ISR £ X
(20 BAEE N “A7 [ TA) 5 SOR2MAFAE = SN JE TRV IE H O s R Ao
(3) BFEARCHZ TR S0 SRR,
(4) HFEEEIR IR FE K AR
5. (RN KRB EAE 7 )
(D HidX R —RRIRHE,
(2) BFARSCHLSE “ RIFFR” 1R aEEM GO LIR e,
(3D Zr A S8 B AR A 1R 0 DA B ) AR FHRFAIE
(4) BMEA IR — BOA IR Z S
6. (38)
(1) BEAREME L PR IR
(2D BMFEA TR I 2 Bl B 07
(3D BA SIS0 77 2RI HF A
7. (Hrivizsh)
(1) HfFE “Mssl MR X —mMmRF.
(2) BRI S E RS S 77 2.
(3) B “ 3P 7.
(4) GEERCHE, BRARELE/N GRS
8. (LT ZHD
(1) BFFEASCH TR E KT B D5, [FIR PP IR S 2 UG 78 I A 1)
(2) JEEASCE I = AN TS W18 WOPE R S Y R SRR sl A H R 2
AMERFIE .
(3) B ARG AR SCiE B O BRAH 55 R0 20 15 46 5 RIS R AR I S AR RR 5
9. (K RAfE 5 A
(D WIRA SR GRF I E RS, X NERR.
(2) BFEASC “LListE N7 05 NIHEERI 0 B .
(3) HTASCAT HE S R 25K 5 5% = MEASRRE TS I EF -
(4) T A=A FEGERE NV AT B &R, DA ST A0 S A AT T F0
10, CHHAFVE L =il )
(D BEARE NI “hR7 —FAEREEE EE X
(20 BRA SR — B ROV — R B S50 Ry R
(3) A iz RO TR EFE 0 T-V5 R 5 70 LRy A
(4) GifEER/E “OLBIER, SHUES” BERERE.
11, CEmE 50



{’ kvlv?sgsﬂo'g
(1) BRA SO RIGEDEMESCRAE . R FATE T2 18 5 AR o 2 57 [ 4 JR
(2) B AL “OR” FEH A SN AR .
(3) BARD A SCH TS MM SERBE FE ., 7K, BIETAE I 2
ARED L fe
12, {(IRSCKAL)
(1 FMARSCKMSL — I S TTATER AR, AP . BUE B AR B s
(2) BFAS P AR, B RA SRR
(3) AL “DlFHEN 5 “Lliste N7 MHEE1E Nk,
13, (2 1E )
(1) BRI BACTHEITT KB 2 1R
(2) A SCIE F RER . IEIE RS G PR IGEMER .
14, CERAM
(1) FRAEAR ST RIS BV E R 50 5218 53 W ) 1 18K
(2) AR SEL G RSLAEE, BTGk AE . FTEMZEAREIE T .
15. (E%%)
(D BATEE (EE) 53 BT T2 RAE WA .
Q)“ﬁﬁﬁ%ﬁ%%%%%ﬁ%ﬁ%é%%ﬁ%ﬁo
(3) HiIRXE#o
16\<ﬁﬁﬁﬂ»
(D W RFR R E R FEOER MEERFNEE.
(2) BUEARFHITEER, AHMHERR.
(3) FfFFFH AL, . RAESERE AR NEN.
(4) HiIHIXH#o
17+ ol JE AR
(1 RN AFE FE R E R, B HE B .
(2) B VS # . shipd o SR A
18, (HFH)
(1) BRI A BT L B BTG 1 2R R
(2D 3 AFrond AR AR 9 ) 2 SR T A 1) 45 B R e
(3D B AR A 49 5 5 0P R A 3 R S
(4) HiIHIXH#o
19, CHZEE)
(1) B NBOEZE R A 60 2 R IR 21 2
(2) X E R RS, RIS ERSIER .
(3) HIHIXH#o
20, (R AD
(1) X E RS JZ I, BRRLL “H 7 TTHR 2RI S5 MRR .
(2) YR Fris U Y I SORIT IS 5 BRI A



(’ BIEEHM

www.51zsb.org

(3) HIHIXH#o

21, CFAIRENY)

(D) RS Hiwh, 52 FNES. BHEMHELSARERT.

(2) HXE B R R R i U SRR & W IR 2R s
22, CHELEEIMT, 355 22 o AH D

(D) AR AXTHLE BEE RR TR Z 2N, DA E A E H a8 ek i) B YIS &
(2) EERFLEE. RELSINFE T,

(3) BT EALKE BRI, HETFREEREZHER.

23, (RN CGRIRKHAFI 7))

(1) B N FRIK I B I RFIR 1 5 R R B2

(2) FRFFIX T AR AT .

(3) P “HERZEM” 5 “OMET. “CREU BT RIS SR &R

(4) IR,

24, (FFRE (GEBLEY]D)

(1) B 5 ] p g TR T R

(2D Jrffr “A ML ? BilE . BRIRH 7 FEAS R S5 8 E T i 1E .
(3) HiIHXHE .

25, (KW « B OFE)

(1 B W B m AT s B “RANe, BIGE” RZI N

(2) WX T =AM AR, LR AN R .

(3) HiIHXH .

26, (HTZREEIR)

(D A7 E RIS AR 0SSR, EREEE SRR, FEMZHA

AR
(2) BRI U R IO QG PE s A T 3 R 2, I 3 (0 THERRBL L oF
J& AR S

(3) BRI CE 5. 471 HEANS S, BA B2 BN,
27, (R

(1) FEAR/NREHE O B8

(2) it 58-E4, IWUTZRENTIXANY 73506 R K R .
(3D FRAENPRF G Z AW R/ E SR

(4) FRHATRHE . OHER SR LT IE AN NS RHERITER -

(5) ot/ IR k. SR R SRS WA I rER
28, (i)

(1) FFEASCART ST R I = Lo

(2) WRFE T ZEANWU T e MRS RE A B 2R 03

(3) SHTIRENE = FhVEE XV R R s Frkd e e AR
(4) BEAHRER. 1B sIEMEXZIE AN & .



(’ BIEEHM
www.51zsb.org
= G AR H S 1
(D & 20 4
(2) HEZH: 10 5
(3) EiA R 10 7
(4) #FEE: 10
(5) fa&: 20
(6) faiffrid: 30
(7 FESCRR: 50 43, amBAESC, SCHAIR (EANRRS BURFIRD, 740K 800 .
M. ik H+
(CREABI), WEBHFTHRE, 2. ARMES, BRKIGER, EITR¥H R
2004 4F 8 H 5 —hi.

RS



